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Review of Transformation of Quadratic Graphs (Ref: Year 12 Mathematics Pg 95 —98)

- N

Note:
In general, the transformation of Quadratic equation will have the form:
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The table below shows how the transformation works by shifting the basic shape:
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EXAMPLE 1:

The equation is given as y = (x — iL}2 +2.

(a) Sketch the graph. Clearly show the intercepts
(b)Give the coordinates of the vertex
(c) State the range of the function

b) coordinates of the vertex: (1, 2)
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1.

The diagram given below shows the graph of y = f(x)

L 3

Find the equation of the graph of f(x)

(2 marks)
2.
The graph of f (x) has been transformed to ¥ = g (x) and the resulting
graph is shown. Find the most appropriate equation for g (x).
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3.
The equation is given as y = —(:r;+2}1 —1.
(a) Sketch the graph. Clearly show the intercepts (3 marks)
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(b) Give the coordinates of the vertex

(1 mark)
(c) Identify the axis of symmetry. (1 mark)
(d) State the range of the function

(1 mark)

THE END
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